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PREVIEW QUESTION BANK(Dual)

Module Name : Economics - Subject Code - 01
Exam Date : 20-Jun-2023 Batch : 09:00-12:00

Negativ
Marks

Sr. | Client Question

No D Question Body and Alternatives Marks

Objective Question

112001 e following table shows the number of employees working in five different companies A-E in December, 2021 along with the

percentage distribution of Science, Commerce and Arts Graduates among them. Based on the data in the table, answer the questions that
follow.

Company-wise Details of Employees

Company [Number of [Percentage (%2) Distribution of Graduates in
- |Emplovees [Science Commerce |Arts

A 2100 32% - =

B 1400 - 31% 40%

C - 30% 30% -

D - - 40% 20%

E - 35% 50% -

Note: (1) Employees of all the five companies can be categorised only in three types of Graduates. namely. Science, Commerce and Arts

(2) Some values are missing in the table (indicated by'-') that you are expected to calculate if required

In company B. the difference between the number of employees who are Graduates in Arts and Graduates in Science is.

. 174
178
. 154
. 146

Fafefad aferer & fegmaz 2021 § A-E 5 3@ 3@ HUHal § SRRd SHIRal & I21 3R 374 9 a3, iy 3ik @ar
o] o1 wfawrd fdazor <xifar mar 8| aferer # U sifest & smuR w4 fou wyf & IR <ifu

b0 =

. — , HIa®| Dl A9 faa

et bkl fagE  [arfieg Sl
A 2100 32% : =
B 1400 _ 31% 10%
C : 30% 30% =
D - - 0% 20%
E 2 350, 50% =

feuoft. (1) Tt ot duial & Sl @ diH voR & Tt siid fagm, aftre ok oo 8 8 arffed fevar o a@ar g1
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Objective Question

The following table shows the number of employees working in five different companies A-E in December, 2021 along with the

18_Live_Eco_B1_E_1-150.html

percentage distribution of Science, Commerce and Arts Graduates among them. Based on the data in the table. answer the questions that

follow.

Company-wise Details of Employees

Company [Number of [Percentage (%) Distribution of Graduates in
- |Employees |Science Commerce Arts

A 2100 32% n N

B 1400 - 31% 40%

C - 30% 30% -

D = - 40% 20%

E - 35% 50% -

Note: (1) Employees of all the five companies can be categorised only in three types of Graduates. namely, Science, Commerce and Arts

(2) Some values are missing in the table (indicated by'-") that you are expected to calculate if required

In company E. if the average number of employees who are Graduates in Arts and Comumerce is 377, then the number of employees in
company E is

. 1120
. 1160
. 1320
. 1360

[

IS )

Fafafad arferer & faamaz 2021 § A-E 5 3@ 3@ HUHal § HRRd SHIRAl &1 I=1 3R 374 3 a3, aftrsg 3iRk &a
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il Lkl EEEINCIEE S
A 2100 32% : =
B 1400 - 31% 10%
C 2 30% 30% =
D _ - 0% 20%
E : 33% 50% =

feuoft. (1) @i uie Fu-il & Sl @ dH1 veR & wae! siuid fagm, ity ok oo 8 € arffed fovar s @ g1
() TiftreT § o O el [RA T (- & 30 H yelRia) et smus! sraxgearaR o S ¢

$uHl E 1, afe Sar | 3R ey Jidd Ul B 39d T=A1 377 8, A E $Y-1 & SHaimdl &) 9w fa-t 82

1. 1120
2. 1160
3.1320
4. 1360
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Objective Question

312003 The following table shows the number of employees working in five different companies A-E in December, 2021 along with the

percentage distribution of Science, Commerce and Arts Graduates among them. Based on the data in the table. answer the questions that
tollow.

Company-wise Details of Employees

Company Number of [Percentage (%4) Distribution of Graduates in
- |Employees |Science ICommerce Arts

A 2100 32% n N

B 1400 - 31% 40%

C - 30% 30% -

D - - 40% 20%

E - 35% 50% -

Note: (1) Employees of all the five companies can be categorised only in three types of Graduates, namely, Science, Commerce and Arts

(2) Some values are missing in the table (indicated by'-") that you are expected to calculate if required

In company A. if the ratio between the number of employees who are graduates in Commerce and Arts is 10:7. then the number of
employees who are graduates in Arts in the same Company is.

. 532
. 588
. 560
. 616

b =

S
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Objective Question
4 2004
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The following table shows the number of employees working in five different companies A-E in December, 2021 along with the

percentage distribution of Science, Commerce and Arts Graduates among them. Based on the data in the table, answer the questions that
follow.

Company-wise Details of Employees

" —— [Number of [Percentage (%) Distribution of Graduates in
- |Emplovees |Science Commerce |Arts

A 2100 32% - =

B 1400 - 31% 40%

C - 30% 30% -

D - - 40% 20%

E - 35% 50% -

Note: (1) Employees of all the five companies can be categorised only in three types of Graduates, namely. Science, Commerce and Arts

(2) Some values are missing in the table (indicated by'-') that you are expected to calculate if required

In Company B, if the number of employees increased by 20% from December 2021 to December 2022 and 20% of the total number of
employees in December 2022 are Science Graduates. then the number of employees who are Science Graduates in December 2022, is .

b =

o

588

532

336
4.504
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A 2100 32% = =
B 1400 - 31% 10%
C - 30% 30% -
D - - 0% 20%
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588
532

. 336
504
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Objective Question

52005 | The following table shows the number of employees working in five different companies A-E in December, 2021 along with the

percentage distribution of Science, Commerce and Arts Graduates among them. Based on the data in the table, answer the questions that
follow.

Company-wise Details of Employees

Company [Number of [Percentage (%) Distribution of Graduates in
- |Emplovees |Science ICommerce |Arts

A 2100 32% n N

B 1400 - 31% 40%

[t - 30% 30% -

D - - 40% 20%

E - 35% 50% -

Note: (1) Employees of all the five companies can be categorised only in three types of Graduates, namely. Science, Commerce and Arts

(2) Some values are missing in the table (indicated by'-') that you are expected to calculate if required

If the number of employees in company D is 3 times the number of employees in Company C and the difference between the number of
employees who are Arts Graduates in company D and that in company C is 480. then the number of employees in company C is

2880
. 2640
1800
4. 2400

Frafafaa arfereT & fGTmeR 2021 § A-E 5 3@ 3@ ST H HTERd SHARAT 61 T 3R 399 I 531, aifrsg iR Far
Fae| 1 ufaerd o gwiar w81 aifereT # fou eifes! & SnuR )R 1 fRu ugi & SR difse

O

. — g HIq®| Dl Wid=id faa

i kil fagE  [arfieg ISl
A 2100 32% . =
B 1400 _ 31% 10%
C : 30% 30% =
D - - 0% 20%
E 2 350, 50% =

feuoft. (1) Tt ure Sl & Haial 1 i voR & Tt siid fagm, aiftre oIk o 8 & arffed fear o wwar 81
(2) AIfciepT & T O gl QU A § (- & $U H U iRia) [Sa1 3ush! saxgaaldaR T0H] $341 6 |

gfe ol D 1 U=yl & W@ Hul ¢ T SH=iRdl S @ 1 diH 10 & 3R &Y=l D Ud Sl ¢ H odl |ids Uil &
Yo SR 480 &, Al U ¢ T HU=IRG] B 9= §

. 2880
. 2640
1800
2400

b =

W

Al

A2

A3 5

3
file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa32960.27138/18_Live_Eco_B1_E_1-150.html 6/106




6/21/23, 10:08 AM 18_Live_Eco_B1_E_1-150.html

Ady

4

Objective Question

6 12006 ' Which of the following assessment procedures tests skills and abilities as they would be applied in real-life situations?

. Formative assessment
. Authentic assessment
. Ipsative assessment

. Peer assessment

arrﬁ%asﬂaﬁﬁqﬁ@rﬁﬁfﬁ SIS B aTell SR Qd sHfierarst &1 gliewr Fafefad I © fog geuie uishar g fean
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Objective Question

72007 ' Ms. Smith wants to create a mind-map for her students to understand the different parts of flowers. Which of the following tools would 1
most suitable?

A. Miro

B. Coggle

C. Podcat

D. Mindmeister
E. Edpuzzle

Choose the correct answer from the options given below:

1. C.D and E only
2. Aand D only
. A. B and D only
. C and E only

S
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Objective Question

8 2008 | Which of the following are the elements of cooperative learning?

A. Individual accountability
B. Positive interdependence
C. Promotive interaction

D. Social skills

E. Group processing

Choose the correct answer from the options given below:

.A.B.Cand D only
. B and E only
.C.D and E only
A.B.C.DandE

HEPRI R & da Fefafd T s 4 &

R

B, YPRIED RER-FnRa
C. WidTe® 3= foean
D. GTHIS P

E. e Uh AU

A fu T fawed! 9 8l SR &1 994 Difoig:

1.%dd A, B.C 3R D
2.%9d B 3IRE

3. %97 C.D3RE
4.A.B.C.D3RE
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Objective Question

9 2009 The brain system that provides temporary holding and processing of information to accomplish complex cognitive tasks such as languag

comprehension, learning, and reasoning: the information that you are focusing on at a given moment, is concerned with

. Episodic memory

. Working memory

. Semantic memory

. Short-term memory

YTST g, ST 3R a6 o Sfed STers Sl & (sIre & R =1 & SRuTs Tfedl Ud UshHul e S+ aTal Afarss
T T T 1o IR 3119 et vie &0 IR i oea . Fafofaa & 9 foag wwfia &
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Objective Question

1072010 | Gjven below are two statements:

Statement I: The goal of reciprocal teaching is to help students understand and think deeply what they have read.

Statement IT: Adaptive teaching provides all students with challenging instruction and uses supports when needed but removes these
supports as students become able to handle more on their own.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

[ B

. Both Statement I and Statement IT are false

3. Statement I is true but Statement II is false

4, Statement I is false but Statement I is true
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Objective Question

112010 yhich among the following is NOT a type of Longitudinal Research?

. Cross-sectional study
. Trend study

. Progpective study

. Cohort study

frafefad o 9 & 9 sy 8y &1 YR 7ol 62
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Objective Question
12 /2012
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Which among the following are correct statements about an independent variable?

A Tt can have at most two levels.
B. It can have any number of levels.
C. It can be qualitative variable.

D. It can be a quantitative variable.

Choose the correct answer from the options given below:

A, Cand D only
.B. C and D only
. B and D only

.A. B and D only

WA R F el ¥ FpufGdswEida s I sy Tl e
A 58 P UT TR S THAd o
B. 3O &R @ G forart o 81 Tahal B

C. T8 U@ 9 81 9@l 5
D. 98 HETHS =R 8l 9l g

L2 =

du Lo

i fau U fasedl § 9§ Tl 3TR BT 90 Do

1. $AA A, C 3R D
2.%4d B.C 3R D
3. %daAB AR D

4. %dd A, B3RD
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Objective Question

13 2013 Identify the correct statements on handling of plagiarism as per UGC Regulations 2018 on plagiarism.

A. Ahigher education institution can initiate proceedings on the basis of findings of an examiner.
B. A higher education institution cannot take suo moto notice of an act of plagiarism.
C. The Departmental Academic Integrity Panel will be headed by the Head of the Department.

Choose the correct answer from the options given below:

. A and B only
. Aand C only
B and C only
LA BandC

2 =

Lo
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Objective Question

Given below are two statements:
Statement I: When selection procedure is biased, taking a large sample will help reduce the bias.

Statement IT: In a normally distributed data. the chances of individual observed values deviating more than 3 times the standard deviati
from the mean value, are very less.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement I is mcorrect

4, Statement I is incorrect but Statement II is correct

RIEEACRIC AR
BY [ OIF F0- HebdT Jatde T el 2. Ol 99 Wiiax! 1 99 are &l $H $A H YeHd il

DYTIL: %mmﬁﬁaﬁﬂaﬂﬁmﬁ%ﬁﬁﬁwmmm@ﬁwaﬂsﬂﬁmﬁﬂﬂqﬁa{%éﬁﬁﬁumﬁa—g
2RI

SR B & il H, - [3U 1Y fdepedl ¥ 3 9 SUged SoR &1 99 DITU:

e T IR A EE R

ﬁuqlaﬁtllaﬁﬂm%
3. PYFITel . AP FUA n Tad &
4, PYF 170 &, AfpT PUT 1 T8l &

[ 2]
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Objective Question

152015 Given below are two statements:

Statement I: The p-value of a test depends on sample size.
Statement IT: An important difference may not be statistically significant if the sample size is too small.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

[ B

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement I is true

Rl AR

B I Tl alen &1 -0 wiiexl & steR R R sear sl

U T1: F1e Uide] agd Biel §1d1 ¢ al 81 9ohdl ¢ b Te@yul Siar Hilkegaiy 39 4 Widie A 81|
SR B & SHale o, =i 3T T faepedl § o 9ad Sugad SoR &1 99 DITU:

e T R I A WE R
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PYTITE e, AfPT PUF I Tad §
4. FYF 170 §. AfbT YT 1 el &

[ 3%
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:A1
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A3
A4

Objective Question
16 2016
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In terms of communication, story-telling is like performing a

. Social act

. Seasonal act

. Confrontationist act
. Corporate act

T & e § ST G FEiiad § 9 o e o @

B

1. IHIfSe &

2. A e

3. gl wref

4. Fifirg @RURe) SRl

Al
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Objective Question

172017 sybliminal communication is part of.

. Government notification
. Political propaganda
3. Legal documentation
4. Research reports

3= SoNr e 3 farger yr e
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Objective Question
18 /2018
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Which of the following are features of mass communication?

A. Face - to - face

B. Private

C. Public

D. Rapid

E. From a professional source

Choose the correct answer from the options given below:

R

fefaf@a d YoH -oF I o1 SIR & ifiraen g2
A gErg
B. fsit
C. graa®
D. @i¥d
E. IR W4

A fu T fawed! 9 8l SR &1 994 Difoig:

1. $II A, B, C
2.%9d B.C.D
3.%9d C.D.E
4.%dd A.B.E

Al

A2

A3

A4

Objective Question

19772019 | Given below are two statements:

Statement IT: Non-verbal communication does not reflect personal feelings. emotions and attitudes.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

[ 5]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT is true
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Statement I: Verbal communication becomes more powerful if accompanied by non-verbal messages.
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Objective Question

202020 | Given below are two statements:

Statement I: Wilbur Schramm’s model of communication had interpreters acting as both encoders and decoders.
Statement IT: Wilbur Schramm was one of the first scholars to consider communication as an interactive process.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement IT are false

3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement II is true

TR P RuME:

HYA T: [dear Y1 & HUNUI H1Sd & YINIARPR Pecad d [dped aHi oU &1 &d 3 |
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FYT IS, APT HUT I 3T &
FYFIITI R AT sy I aa €

B

Al

1
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Objective Question

21120211 the following letter series. find the next term?

CCABD . DDBCE. EECDF. ............

. FFDGE
.FFDCE
.FFDEG
. FFDEF

fFrAfeTRa sfaR gaen # Sl ue 91d &2

CCABD .DDBCE. EECDF. ..........

b =

S V]

1. FFDGE
2. FFDCE
3. FFDEG
4. FFDEF

Al
A2
A3
A4

Objective Question

222022 | 1 4 certain coding scheme, the word 'SCHOOL' is coded as 'TEKSTR'. How will the word 'OFTEN' be coded in the same scheme?

. PHWIS

.PGUFO
. PHVGP
. PHUGO

f&efi P fd=r #, 'SCHOOL' X&G ®I 'TEKSTR'. & ¥U H Peaw (a1 olldl § | 39! [d01 # 'OFTEN' Xeg b 39 § Heag [
S

b =

L

. PHWIS
2. PGUFO
3. PHVGP
4. PHUGO

b =

Al

1
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2
Ay
3
My
4
Objective Question

232023 1f the radius of a circle is increased by 10%, its area will increase by-

. 10%
. 100%
20%
4.21%

qﬁ%fﬁfﬁﬁﬁmﬁ 10%, SG1 a1 91Tl &, T 59 &A% | fha-t gis: sri?

B

10%
100%
. 20%
. 21%

i

Al
:A2
A3
A4

Objective Question

2412024 1 909, of the cost price of an article is equal to 50% of its selling price. The percentage of profit or loss on the cost price is

. 20% profit
. 20% loss
. 40% profit
4. 40% loss

fopit a%g & AT T &1 70% 39 fAfha T & 50% & SRIER ¢ | ARG God IR a1y a1 81 &1 wfasd §

N

20% @Y
20% BIF
40% Y

. 40% BIF

[

e

Al

A2
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Objective Question

2512025 1 A certain sum of money becomes 1000 in 2 years and 1100 in 4 years at simple rate of interest. The rate of interest per annum is

-
Ja

=]
=

| <1 | w

[
L
=S

o
o~

= W
o s |

O B =le g
~

D5 YARTIRT TATRMRUT 10T DI aX T 2 T8I H 21000 3R 4 T8f H 21100 B ol ¢ | Wia 9 =amot &R fapa &2

1. 4__ (1]
2
5
2. 52094
9
3. 73y,
!
4
4.629%
9
Al
1
A2
2
A3
3
Aty
4

Objective Question

26 |2026 Arrange the following group of terms in order of decreasing intension.

A. Mammal
B. Wildcat
C. Feline

D. Animal
E. Vertebrate

Choose the correct answer from the options given below:

LB, CAED
2. 10 B LB
36, B EyA D
4.D,AE.B,C
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fFafafad wss ag! &1 Tond & sraRie! o1 ¥ gafld S

A, W9
B. gHladrd
c.fasm@
D. u3]

E. YRG!

1 fau e faeedl O ¥ 9l 3R &1 994 BIfoI:

b=
UNUw

om0
SIS

W > 0
NUwU

ol

—_

Al
A2
A3

Ay

4

Objective Question

27 2027 \Which fallacy is exemplified in the following statements "Of course gun ownership should not be prohibited. You can kill someone witl

hockey stick, but no one proposes to ban ownership of hockey sticks."?

1. Slippery slope

2. Weak Analogy

3. Red Herring

4. Straw Man
ol ou= § oF W ad <y gt T 8 9Ne TF @ Wit Fitg et g agu) oy ekt it s el Y e @ §
b= Ig 21T STP1 & TN Bl Uidaied PR 1 Uk qo] Hdl 62

1. (ae gad ga
2. PHGR G
3. 38 &R

4. %A

Al

1

A2
2
A3
3
Ay

4

Objective Question
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28 12028 |1\ poets are scientists. Some artists are poets. Therefore some artists are scientists.” Which formal fallacy is committed in this argumar

1. Denying the antecedent
2. Exclusive premises

. Fallacy of drawing an affirmative conclusion from a negative premise
. Existential fallacy

g Ul B IS 781 31 PO SADR Hid g1 TIT PO HADR D © 1" §U Gfad T DI Il HADIND dha g2

e o

1. SqaT FRe gy
2. TMadD YR qrag
3. fFSeTH® YR 9190 & WeRIES F5py HHey &1 ddham

4. HfETTRD dHe

Al
{xz
A3
A4

Objective Question

292029 Given below are two statements:

Statement I: The form of inductive argument is evaluated in degrees of likelihood or probability.
Statement IT: A strong inductive argument that has all the true premises, is called a "cogent” argument.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement I is incorrect

4. Statement I is incorrect but Statement II is correct

4 g1 By [GU U E:
T I SHFTEATAD Gfdd & =Y BT e SHTGT 1 GUTAd & 7T & S9R 691 a3

BYA [1:2¢ HFHATHS gfaed g Tt STURaTH 9 §id ©. 98 991d (Ploie) gfad Beardl ol
SR B & Al H, - 3T T fdepedl ¥ o 9ad 39gad Sok &1 99 DITU:

PYTI RIS T 8

YT 1 IR 11 ST e el '

P I el g, AT sy n Tad g
P 17T6d 8, Al SYT T IS ©

P R

Al
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A2 5

2

A3 5

3

Ay

4

Objective Question
3012030 which of the following arrangements involve fallacy of the irregular middle term?

A. Sound is a quality because it is visible.

B. Sound is eternal, because it is audible.

C. Sound is eternal because it is produced.

D. All things are non-eternal. because they are knowable.

Choose the correct answer from the options given below:

.A. B and C only
B and D only
.Band C only
.A. B and D only

7 ¥ 3 Tt gfdadl  etf-rafia 5ed ue o1 adba 2

A a1 T e Wifs g e B

B. @ W1Yd ¢ Fifd a8 YT 5

c. af Yyd § i g8 Ianfed gl 1
D. 1l ol TR-2M%d € ifep d 38 giedl &1

A feu T fooedl  © el SR &1 994 i

La =

Lo

Al
A2
5x3
A4

Objective Question

31 12031 Clickjacking, a type of cyber attack. is

. A device that sends and receives data at every click in a bit per second

. A device which counts clicks on Internet

. A malicious technique of tricking web users into revealing confidential information
. A digital process that is used to display an image on mobile.

b =

L
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ST ST U MR BT TSR 3MHHT ¢ Silfoh-

2. Eee WR [GTep! BT TUHT B3 Bl gfad B |

4. TIETSY R B4 Weiid S & 9 vai &1 &4 arell s (fSiorea) ufpar g |

Al
A2
A3
A4

4

Objective Question

32 12032 Given below are two statements:

Statement IT: icloud is a cloud storage service provided by Apple.

1. Both Statement I and Statement II are true

[ o)

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT is true

BEEEAIEACTR

HYA 1. TTE S15d TP SIa BT [aR & 3R &8s HSRU al U&H HRal g

BHYFIL: icloud (SFHISS) T GRI Yed UF FI3S HeRUIAdI ¢
SR BY & e 1, - 3u 1Y fapedl T 9 963 3ugad ok &1 94 HITU:

FYTI R 1A TIE

FYT1 3R 1S T E

YT 1 TI &, AT HYT I 3T &
PYT AT 8. APTPUT I TA &

ko =

Feiiga

Al

A2

A3 5

3
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1. 0% Ut gfda & o udi faere R e fae ufa $%e ot ifa 3 Ser e 7 9t st 81
3. U faguyul g1 & ol 98 Jaiesl d Saud® M- Ga-1 Jae BR5 ofldl o |

Statements I: Google Drive is an extension of Google docs and provides cloud storage services.

In the light of the above statements, choose the correct answer from the options Given below:
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Objective Question

332033 Given below are two statements:

Statement I: A cookie is a packet of information sent by a web browser to a web server.
Statement IT: Spam can 'clog up' a user's inbox with unwanted emails: it can also lead to phishing attacks.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement IT are true

[ B

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement II is true

i < Py RRu U &:

BU L FHI A9 SR GRT 8 TR B! Wofl 97 a1 HT U@ Tde 5

HYF II: W YAIadT & Sa1a B aTS-10 shal U oI (FAN-310) $R Todl 6. 599 BT HHH o 81 9@d 6l
SWRIT B & il o, - [$U T fapedl § o 9ad Sugad Sk &1 99 DITU:

PYTINR N3A T ®
L PY1 3R 113 A
PYF IR, AT PYT I I’
PYF IR, A PT P I II®

[ S

e

fxl
A2
A3
fM

Objective Question

3412034 1 the context of MS-EXCEL spreadsheet software, consider a case where there are 10000 random numbers from 0 to 1. located in cells

through A10000. How many of the following statements A-D are true?

A. A COUNTIFS function in cell B2 with one criteria. based on the range Al:A10000. cannot evaluate to less than 0

B. A COUNTIFS function in cell B2 with two criteria, each based on the range Al:A10000, cannot evaluate to less than 0

C. A COUNTIFS function in cell B2 with one criteria, based on the range Al:A10000, cannot evaluate to greater than 10000
D. A COUNTIFS function in cell B2 with two criteria, based on the range Al:A10000. cannot evaluate to greater than 10000

Choose the correct answer from the options given below:

b =
[ S R FV R

& bk
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A3

A4

Objective Question

35 2035 Mateh List T with List IT

B

4

— o o e

18_Live_Eco_B1_E_1-150.html

U0 U9 - THd Sisyfie difedmR & ey H, Ueh U9 I1He IR fogR Sifoe ofef 0 T 1 3 10000 TEfe5® T@U € & A1 T A 1000
My § e[ eI FHA DAY fra FyA Td §°

A. IS A1:A10000 TR SIUTRT TP HHICT & T 1Y B2 H TH COUNTIFS TH, 0 Y HF BT el ol B Ghdl &
B.E“fﬁi%?ﬂ% [ & a1y, o Tdie ¥ A1:A10000 TR STHTRA €1, W18 B2 B U COUNTIFS WPbTd 0 § B &1 Heleh gl IR
Tl
C. {51 A1:A10000 TR 3MeTRT TP HHICT & WY YHIE B2 F TH COUNTIFS THT 10000 I 318 &1 JeuTdh ol R 9Hdl o
D.ﬁﬁﬁﬁ%;i{ﬁﬂﬁwﬁﬁmmoooomwﬁr&ﬁs‘f.uaﬁgmﬁwcovmmw10000@%@&@1@
Tel PR gHar g

e fow e e § / et SR FTT9T Hifore:

LISTI LISTII
(Computer Terms) (Definition)
[The procedure where one image is changed into
A [Tweening I. |another image m a smooth way (uses tweening
to give the transition effect)
B. [Morphing II. |Artificially created environment
[The generation of intermediate frames between
C. [Rendering III. pmages gives the impression that the first image
evolves slowly into the second image
D. Nirtual Realite | T ThF generation of an image from a model using
= lsoftware
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= o

Choose the correct answer from the options given below:

AL B-IV. C-1. D-II
. A-IL B-1. C-IV. D-III

. A-L B-IIL. C-IV. D-II
AL B-I. C-IV. D-II
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Yt 11 g 11 9 e siforg

a1 et 1
FUR U @frymam
N i — [T Uishdl ToreH Uah Toid o giHdl Udd U GeR fad H URdldd @ 1edl oildl g (H=ddd WHId o [eld acia dl Janl &
B. [HIHT L. [57H ¥4 9 Iad mhiaRvl
c
D

|G sten nue | 1[5 & &t mrefEe A @t Sa § 98 THTd STe [ TUH 199 R 9K g5 94 3 (9@ ad eidl 8
Jemumh ayrd | 1v [EToedTR @ Uar @i gU Aied 9 fd9 & Id

fafciiRad [l § 9 98l 3R &l 9g- Sifor -

. A-IIL B-IV. C-I. D-II
AL B-1L C-IV. D-III
A-L B-III C-IV. D-IT
. A-IIL B-L. C-IV. D-II

B R

{\1
fA2
53
.A4

4

4

Objective Question
3612036 Pyrolysis
A. iz a biochemical conversion process
B. is useful for production of bio-oil
C. yields minimum waste
D. liquid is a good substitute of heating oil
E. can produce Ethanol

Choose the correct answer from the options given below:

1
2.
&
4

qT 3[99e- (UrSIams &)

A. T olg 9% SUiaRu uighar gl
B. U1d dd & 3dIgA & forg STarf g1
C. ¥ Ay Uiy Feaar gl

D. &d S dd $1 331 WiaRfA® g1
E. 3UTd &1 A IR IHal gl

A feu Ty fosed! § 9 98l SR &1 994 Difoig:

1. $9dA.B.C.D
2.%4d B.C.D
3.%4d B.C.D.E
4.%9d A.D.E
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Objective Question

3712037 | Electrostatic Precipitators are used to control

1. Air Pollution
2. Water Pollution
. Soil Pollution
. Noise Pollution

(RRATYd Saaad! &1 Wi i H ¥ ol FrRifid 3 & fo foar ore 82

S )

1. 91 HgNU
2. 5T UGNl
3, 1 UGyl
4. @ Tgm

Al

1

A2 5
2
A3 3
3
Aty

4

Objective Question

38 2038 Amongst the following Green House Gases (GHGs). whose Global Warming Potential (GWP) is considered as 17

1. Chlorofluore carbon (CFC)
2. Nitrous Oxide (N,0)

3. Carbon dioxide (CO,)

4. Methane (CHy)

Fafead Uy 7Tg (1H g1ew) 141 ¥ 9 o afye d1g= JuTedl (Sl s&eg Ul) &1 1 T &Il 62

1. FARIHRI HTE (CFC)
2. ST HEES (N,0)
3. PIa SEAHATRES (CO,)
4. 9% (CH,)

Al
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Objective Question

Given below are two statements:
Statement I: Some people suffer from what 1s called as Sick Building Syndrome (SBS).

Statement IT: SBS is caused due to supply of polluted water in a particular building.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[ 5]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement II is correct

9 < Py feu e &:

FUT . T e R 3T Ry eryar oo &t 03 (sBs) Tl o arelt oorfd § ifsd g1 &1
SUA I e yar fa9w 2 ugfia ofa omgfd v §f o ST PRT St

TR Y & SHle 1, - 3T T fapedl o 3 968 Iuga SoR &1 99 DI

HYTI AR SH Te1 §
L HYF IR 1 SH Tad 8
YT UL 8. AP HU 1 TTEd ©
.Y 17eTd , Wit U 11 981 &

b =

S V)

Al
A2
A3

A4

Objective Question

United Nations conference on Environment and Development that was held in 1992 at Rio de Janeiro is also known as

. Ozone Summit

. Conference on human environment
. Earth Summit

. Conference on wetlands

S A
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Objective Question

41 12041 According to NEP 2020, as a response to contemporary global challenges 'Global Citizenship Education’ will be provided to learners to

become active promoters of societies?

. tolerant

. peaceful

. inclusive
secure

. sustainable

monwe

Choose the most appropriate answer from the options given below:

1.B. Cand E only
2. Aand C only
3AB.C.DandE
4.B, D and E only

T § O 2020 & SR SHGIH aTy® FAitadl o1 srferar o e &1 e 5 3§ 58 ware & 9ied Jade a7+ & g diy®
TRTRG T 14T U&= ®I S

A gigwy
B. Tifagof
C. garagi
D. gié&d
E. URUg

1= 4T Y fasedl § 9 el SR 31 994 Pifoi:
1. $aA B, C IRE
2.%ad A3RC

3. A,B.C,D3RE
4.%dd B.D3RE

Al

A2
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Objective Question

42 2042 : - : : o : iy : -
According to NEP 2020, assessments of educational approaches in undergraduate education integrating humanities and arts with which «

the following disciplines have consistently shown positive learning outcomes?

A, Science

B. Mathematics
C. Technology

D. Mass Media
E. Engineering

Choose the most appropriate answer from the options given below:

.A.B.CandE only
B and C only

. A.DandE only
.C.D and E only

RIPT T1e Al 2020 B SHTER THGST SR Barsi & A1 [ Al & TPieRur 4 |Iae Riaf 8 Aeifirs Ui & siwe 9
BRI ST uRkoms S &2

A fasm

B. 7o

C. Wit
D. 59 §9R
E. AftifFet

+id fau U fasedl O 9§ Hel 3Tk BT 9g- Do

R O

1.%dd A.B.C 3IRE
2. %ad B R C
3.%ad A.D3RE
4. %99 C.D3IRE

Al
A2
:A3
A4

Objective Question
43 12043
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Which of the following are the encompassing principles underlying the successful implementation of value education?

A. Conviction

B. Connection

C. Critical Thinking
D. Commitment

E. Courage

Choose the most appropriate answer from the options given below:

.A. Cand D only
.B. C and E only
.A.B.D and E only
.A.B.Cand E only

TR 181 & I%a rarand & 19 Fe d S on.eH 3 i afmfa &

A T¢ fay™

B. ¥

C. argTdS aa
D. Widasd

E. 969

i feu U fadedl § 9§ Hel 3Tk B 9g- BIfoi:

R

1. PaAA. C 3R D
2. %ddA B, C 3R E
3.%9d A.B.D3IRE
4. PAAA.B.C ARE

f\l
A2
A3
:A4

Objective Question

44 2044 | The Hunter Commission recommended the withdrawal of government support to

. Collegiate education
. Adult education

. Moral education

. Primary education

TR AR A 8 4 3§ e R R a0 aaw oy oF &1 s @1 o

B R

1. HETiaeTerdl e (iiafonge uee )
2. 3O furefT
3. Afae fRren
4. AT fRren
Al
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Objective Question

Given below are two statements:

Statements I: In Ancient times. Nalanda attained greatest and most brilliant achievements in the field of logic.

Statement IT: Each professor in Nalanda had charge of one subject only.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[ 5]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement II is correct

T a P Ry E:

HY L. U B1el H 651 A G WA & &3 H He-ad 9 Jaiive AFER IJTdierdl o &1
HYUA I1: ATa-<] § TP WHIR & UMY chadl U (a9 &1 g1 YUR gldl Ul

SR Y & il H, - 3T T [qpedl ¥ 3 9 Suga SR &1 99 DITU:

HYA1 AR A TE @
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Objective Question
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Read the following passage carefully and answer the question given below:

Firefighters are often asked to speak to school and community groups about the importance of fire safety. particularly fire prevention an
detection. Because smoke detectors reduce the risk of dying in a fire by half. firefighters often provide audiences with information on he
to install these protective devices in their homes.

Specially. they tell them these things: A smoke detector should be placed on each floor of a home. While sleeping people are in particula
danger of an emergent fire, and there must be a detector outside each sleeping area. A good site for a detector would be a hallway that ru
between living spaces and bedrooms.

Because of the dead-air space that might be missed by turbulent hot air bouncing around above a fire, smoke detectors should be installe
either on the ceiling at least four inches from the nearest wall, or high on a wall at least four. but no further than twelve inches from the
ceiling.

Detectors should not be mounted near windows. exterior doors, or other places where drafts might direct the smoke away from the unit.
Nor should they be placed in kitchens and garages. where cooking and gas fumes are likely to cause false alarms.

What is the main focus of this passage?

1. How firefighters carry out their responsibilities

2. The proper installation of home smoke detectors

3. The detection of dead-air space on walls and ceiling
4. How smoke detectors prevent fires in homes
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Read the following passage carefully and answer the question given below:

Firefighters are often asked to speak to school and community groups about the importance of fire safety. particularly fire prevention an
detection. Because smoke detectors reduce the risk of dying in a fire by half. firefighters often provide audiences with information on he
to install these protective devices in their homes.

Specially. they tell them these things: A smoke detector should be placed on each floor of a home. While sleeping people are in particula
danger of an emergent fire, and there must be a detector outside each sleeping area. A good site for a detector would be a hallway that ru
between living spaces and bedrooms.

Because of the dead-air space that might be missed by turbulent hot air bouncing around above a fire, smoke detectors should be installe
either on the ceiling at least four inches from the nearest wall, or high on a wall at least four. but no further than twelve inches from the

ceiling.

Detectors should not be mounted near windows. exterior doors, or other places where drafts might direct the smoke away from the unit.
Nor should they be placed in kitchens and garages. where cooking and gas fumes are likely to cause false alarms.

The passage indicates that one of the responsibilities of a firefighter is to.

1. Install smoke detectors in the homes of residents in the community.

2. Check homes to see if smoke detectors have been properly installed.

3. Develop Fire safety programmes for community leaders and school. teachers
4. Speak to school groups about the importance of preventing fires.
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Read the following passage carefully and answer the question given below:

Firefighters are often asked to speak to school and community groups about the importance of fire safety. particularly fire prevention an
detection. Because smoke detectors reduce the risk of dying in a fire by half. firefighters often provide audiences with information on he
to install these protective devices in their homes.

Specially. they tell them these things: A smoke detector should be placed on each floor of a home. While sleeping people are in particula
danger of an emergent fire, and there must be a detector outside each sleeping area. A good site for a detector would be a hallway that ru
between living spaces and bedrooms.

Because of the dead-air space that might be missed by turbulent hot air bouncing around above a fire, smoke detectors should be installe
either on the ceiling at least four inches from the nearest wall, or high on a wall at least four. but no further than twelve inches from the

ceiling.

Detectors should not be mounted near windows. exterior doors, or other places where drafts might direct the smoke away from the unit.
Nor should they be placed in kitchens and garages. where cooking and gas fumes are likely to cause false alarms.

The passage states that, compared with people who do not have smoke detecors. persons who live in homes with smoke detecors have a

50% better chance of surviving a fire.
. 50% better chance of preventing a fire.
. 75% better chance of detecting a hidden fire.
. 100% better chance of not getting injured in a fire.
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Read the following passage carefully and answer the question given below:

Firefighters are often asked to speak to school and community groups about the importance of fire safety. particularly fire prevention an
detection. Because smoke detectors reduce the risk of dying in a fire by half. firefighters often provide audiences with information on he
to install these protective devices in their homes.

Specially. they tell them these things: A smoke detector should be placed on each floor of a home. While sleeping people are in particula
danger of an emergent fire, and there must be a detector outside each sleeping area. A good site for a detector would be a hallway that ru
between living spaces and bedrooms.

Because of the dead-air space that might be missed by turbulent hot air bouncing around above a fire, smoke detectors should be installe
either on the ceiling at least four inches from the nearest wall, or high on a wall at least four. but no further than twelve inches from the

ceiling.

Detectors should not be mounted near windows. exterior doors, or other places where drafts might direct the smoke away from the unit.
Nor should they be placed in kitchens and garages. where cooking and gas fumes are likely to cause false alarms.

A smoke detector should not be installed near a window because

1. Outside fumes may trigger a false alarm.

2. A draft may create dead-air space.

3. A draft may pull smoke away from the the detector.
4. Outside noise may muffle the sound of the detector .
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Read the following passage carefully and answer the question given below:

Firefighters are often asked to speak to school and community groups about the importance of fire safety. particularly fire prevention an
detection. Because smoke detectors reduce the risk of dying in a fire by half. firefighters often provide audiences with information on he
to install these protective devices in their homes.

Specially. they tell them these things: A smoke detector should be placed on each floor of a home. While sleeping people are in particula
danger of an emergent fire, and there must be a detector outside each sleeping area. A good site for a detector would be a hallway that ru
between living spaces and bedrooms.

Because of the dead-air space that might be missed by turbulent hot air bouncing around above a fire, smoke detectors should be installe
either on the ceiling at least four inches from the nearest wall, or high on a wall at least four. but no further than twelve inches from the

ceiling.

Detectors should not be mounted near windows. exterior doors, or other places where drafts might direct the smoke away from the unit.
Nor should they be placed in kitchens and garages. where cooking and gas fumes are likely to cause false alarms.

A smoke detector must always be placed

. outside at least one of the bedrooms on any levels of the home.
. outside all bedrooms in a home.

. in all hallways of a home.

. in kitchens where fires are most likely to start.
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